# **Margaret River Senior High School**



YEAR TWELVE 2014

## PLEASE ORDER ONLINE AT <u>www.campion.com.au</u> USING "JYBK" AS YOUR CODE BEFORE Friday 20th December 2013

OR SEND YOUR COMPLETED LIST TO CAMPION VIA DETAILS BELOW

### **ALL ORDERS MUST BE PREPAID**

PREPACKAGED DELIVERY SERVICE							
STUDENT GIVEN NAME(s) STUDENT SURNAME							
DELIVERY ADDRESS (For easy Delivery, Parent Name & Work Address preferred)							
<del></del>							
SUBURB POST CODE							
DADENICOM DEVAN MODIL STRUCKE NUMBER							
PARENT/GUARDIAN MOBILE/PHONE NUMBER							
EMAIL ADDRESS REQUIRED (STUDENT'S PREFERRED)							
CREDIT CARD PREPAYMENT - WILL BE PROCESSED AT TIME OF ORDER ENTRY							
MasterCard Visa Card No.:							
Expiry Date: Cardholder's Name:							
Signature:							
▼ TEAR OFF SLIP - PLEASE RETAIN ▼							
Your home delivery order will be dispatched week ending 24 January 2014							

Please Note: Any orders being returned to Campion via mail must be received two days prior to the date at the

CAMPION

Campion Education (Aust) Pty Ltd A.B.N.: 33 074 318 602 28 KEMBLA WAY, WILLETTON WA 6155 Phone: 08 6240 2700

www.campion.com.au - Email: salesperth@campion.com.au

top of this page to ensure your order does not incur a late fee.

## RESOURCE LIST INSTRUCTIONS

#### **HELPING YOUR SCHOOL / COLLEGE**

Please be aware that shopping with Campion, your schools/colleges preferred supplier, ensures you receive the correct items and editions. You are also supporting your school/college as Campion assists your school community in many ways.

## **OPTIONS TO ORDER**

- 1. The best way to guarantee you will receive all available items is to order online at <a href="https://www.campion.com.au">www.campion.com.au</a>
  you may also post direct to Campion: 7 Oxleigh Drive Malaga, 6090 before the due date on the front of your List
- 2. While You Wait Service (Malaga or Willetton)
- Our Staff will pick and pack your Resource List requirements in our warehouse while you wait in our showroom.
   Credit Card, Eftpos and Cash Accepted in Campion Shops. Malaga and Willeton. Cheques not accepted.
- Please note: Long delays will be experienced in the 2 weeks prior to commencement of the school year.
- · Whilst we endeavour to fully supply all orders, we cannot guarantee stock if you choose the While You Wait Service.
- The best way to guarantee you will receive all available items is to submit your Resource List **online** by the due date on the front of your Resource List.

All Back Order Items will be posted and charged a delivery fee

#### **OPTIONS TO COLLECT**

#### 1. HOME DELIVERY

- Can be delivered to a home or business address. Please write clearly.
- · A postage fee may be applicable see end of your Resource List.
- · All Home Deliveries must be pre paid.
- **BOARDERS:** If you tick the boarder box on the front of the list (If Applicable) your order will be delivered to the school/college. Please put the school address.

#### 2. LATE ORDERS - MISSED CUT OFF DATE

- You can still place your order online at www.campion.com.au All late orders are home delivery only.
- The total cost of processing and delivery will be \$5.50 per item up to a maximum of \$17.50.
- Whilst we endeavour to dispatch your order before school begins we cannot guarantee delivery before school term starts.

### **REFUNDS**

Refunds will be given on **TEXTBOOKS ONLY** in **NEW** condition up to the 15th February 2014 or 2 weeks after the purchase date (whichever is later). We will gladly refund or exchange any goods deemed faulty from the manufacturer.

### **OFFICE HOURS**

Monday - Friday 9:00am - 5:00pm

### **Extended Hours (January 13th to 28th February)**

Monday - Friday 8:30am - 5:30pm Saturday 8:30am - 3:00pm

INSTHDWA

## Please tick the items required in the box provided \( \)

✓ı Item Item Unit Qty Total Office Use Description No. Reqd Reqd Price \$ Amount \$ **SCHOOL RESOURCES** USB Pocket Flash Drive - only one (1) in total is required for each student CERTIFICATE II INFORMATION TECHNOLOGY P50550 Earphones TDK Ear Bud Retractable Headphones In Ear Type 1 20.36 20.36 1 P56667 USB Pocket Flash Drive 8GB - NO RETURNS 2 1 11.01 11.01 **CERTIFICATE II IN BUSINESS** P50550 Earphones TDK Ear Bud Retractable Headphones In Ear Type 3 20.36 1 20.36 P56667 USB Pocket Flash Drive 8GB - NO RETURNS 1 11.01 11.01 **CAREER & ENTERPRISE 1D AND WPL 1C & 1D** P55097 Lever Arch File A4 Board 5 3.70 3.70 1 1 x Career & Enterprise Portfolio available from MRSHS: \$10.00 Specific type required - If not already purchased P56329 Pocket Plastic 11 Hole A4 Box 100 6 1 5.91 5.91 **COMPUTER SCIENCE 2A & 2B** P55442 Display Book A4 20 Pocket Black Refillable 7 1.66 1.66 1 P50550 Earphones TDK Ear Bud Retractable Headphones In Ear Type 8 1 20.36 20.36 P56667 USB Pocket Flash Drive 8GB - NO RETURNS 9 1 11.01 11.01 **COMPUTER SCIENCE 3A & 3B** P55442 Display Book A4 20 Pocket Black Refillable 10 1 1.66 1.66 P50550 Earphones TDK Ear Bud Retractable Headphones In Ear Type 20.36 11 1 20.36 P56667 USB Pocket Flash Drive 8GB - NO RETURNS 12 1 11.01 11.01 **BIOLOGICAL SCIENCE 3A/3B** P12655 Heinemann QSP Biology A Contextual Approach Textbook 13 1 93 95 93 95 P00271 Study Guide WACE Biology 3A-3B (2nd edn) [Walster, Peter] 14 1 35.66 35.66 **CHEMISTRY 3A & 3B** P13694 29.71 29.71 Exploring Chemistry Stage 3 [STAWA] 15 1 P13687 Chemistry For WA 2 Units 3A & 3B Coursebook (inc CD) [LEWIS ET AL] 1 71.95 71.95 16 P13763 Study Guide WACE Chemistry 3A-3B [Lucarelli & Proctor] 17 1 35.66 35.66 **DANCE 1B & 2B** P58197 Visual Art Diary A4 110gsm 60 Sheet/120 Page 18 4.63 4.63 P50281 Document Wallet A4 Polyprop With Press Stud Clear 19 1 0.94 0.94 **DESIGN PHOTOGRAPHY** P56665 USB Pocket Flash Drive 4GB - NO RETURNS 6.76 6.76 20 1 **DRAMA 3A & 3B** P12243 Laramie Project (Vintage Originals)(Imported) [Moises] 21 1 15.26 15.26 P13890 Drama - A Resource for for WA Units 3A - 3B [De Rossi & Stinton] 22 1 51.81 51.81 P00489 Cloudstreet (Current Theatre) [Enright & Monjo] 16.96 16.96 23 1 **ECONOMICS 3A & 3B** P04424 Investigating Macroeconomics 3A & 3B (2nd edn) [Parry & Kemp] 24 58.65 58.65 **ENGLISH 3A & 3B** P03024 The Turning (P/B) (Picador edn) [Winton] 25 21.21 21.21

## Please tick the items required in the box provided $\downarrow$

			$\blacksquare$			
Office Use	Description	Item No.	Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	LITERATURE 3A & 3B					
P03120	COMPULSORY  True History Of The Kelly Copp (Vintage ed) P/P [Carey, Peter]	26		1	16.96	16.96
P15016	True History Of The Kelly Gang (Vintage ed) P/B [Carey, Peter]  Caucasian Chalk Circle (Play) [Brecht]	20 27		1	21.21	21.21
P00969	Frankenstein (Penguin Classic) P/B [Mary Shelley]		_	1	8.46	8.46
P11866	, , , , , , , , , , , , , , , , , , , ,	28				25.46
P01150	New Selected Poems 1966-1987 - Heaney (P/B) (Faber) [Heaney] Hamlet (Cambridge School Shakespeare)(2nd edn) [Andrews (Ed)]	29 30		1 1	25.46 11.01	11.01
	ENGLISH 1C & 1D					
	No Requirements					
	MODERN HISTORY 3A & 3B					
P02586	The Spirit of Change: Russia in Revolution [Morcombe]	31		1	51.81	51.81
P12014	From Autocracy to Communism - Russia 1894-1941 [Lynch]	32	$\overline{\Box}$	1	36.51	36.51
P04556	Unity & Diversity - Australia Since 1850 [Darlington]	33		1	64.95	64.95
	HUMAN BIOLOGICAL SCIENCE 3A & 3B					
P01293	Human Perspectives Book 2 (3A/3B)(6th edn) (Print & eBook) [Newton & Joyce]	34		1	62.01	62.01
P13684	Exploring Human Biol Science Stage 3: Changing Bodies [STAWA]	35	$\overline{a}$	1	26.73	26.73
P14416	Study Guide WACE Human Biology 3A-3B - Reprint [Sanfilieu]	36		1	35.66	35.66
	MATERIALS DESIGN & TECHNOLOGY - WOOD 1A/1B					
P55442	Display Book A4 20 Pocket Black Refillable	37		1	1.66	1.66
P58197	Visual Art Diary A4 110gsm 60 Sheet/120 Page	38		1	4.63	4.63
	MATHEMATICS 1SMAT (1B & 1C)					
P55277	Calculator Casio Scientific FX-82AU Plus	39		1	30.95	30.95
P50281	Document Wallet A4 Polyprop With Press Stud Clear	40	$\overline{\Box}$	2	0.94	1.88
P55554	Exercise Book A4 8mm 128 Page	41	$\overline{\Box}$	4	1.49	5.96
P55546	Exercise Book A4 8mm 64 Page	42	$\overline{\Box}$	2	0.94	1.88
P55094	Binder A4 Half Lever Arch Board 50mm Black	43		1	4.76	4.76
	MATHEMATICS 2YMAT (2C & 2D)					
P55272	Calculator Casio Graphic CAS Class Pad FX-CP400	44		1	195.08	195.08
	(New Edition for 2014)		_			
P55554	Exercise Book A4 8mm 128 Page	45		4	1.49	5.96
P55546	Exercise Book A4 8mm 64 Page	46		2	0.94	1.88
	MATHEMATICS 2XMAT (2A & 2B)					
P55272	Calculator Casio Graphic CAS Class Pad FX-CP400	47		1	195.08	195.08
	(New Edition for 2014)					
P55554	Exercise Book A4 8mm 128 Page	48		4	1.49	5.96
P55546	Exercise Book A4 8mm 64 Page	49		2	0.94	1.88
	MATHEMATICS 3XMAT (3A & 3B)					
P55272	Calculator Casio Graphic CAS Class Pad FX-CP400	50		1	195.08	195.08
	(New Edition for 2014)					
P55546	Exercise Book A4 8mm 64 Page	51		2	0.94	1.88
P55554	Exercise Book A4 8mm 128 Page	52		4	1.49	5.96
	MATHEMATICS 3YMAT (3C & 3D)					
P55272	Calculator Casio Graphic CAS Class Pad FX-CP400	53		1	195.08	195.08
	(New Edition for 2014)					
P55546	Exercise Book A4 8mm 64 Page	54		2	0.94	1.88
P50328	Exercise Book A4 8mm 128 Page With Margin	55		4	1.45	5.80

## Please tick the items required in the box provided

✓ı Item Item Unit Total Qty Office Use Description No. Reqd Reqd Price \$ Amount \$ **MATHEMATICS SPECIALIST 3YMAS (3C & 3D)** P55272 Calculator Casio Graphic CAS Class Pad FX-CP400 195.08 195.08 56 1 (New Edition for 2014) P55546 Exercise Book A4 8mm 64 Page 57 2 0.94 1.88 P55554 4 Exercise Book A4 8mm 128 Page 58 1.49 5.96 MUSIC 3A & 3B P55442 Display Book A4 20 Pocket Black Refillable 59 1.66 1.66 1 P50808 Music Manuscript Pad A4 Double Sided Punched 50's 60 1 8.46 8.46 P01213 History Of Music (2nd edn) (P/B) [Bennett] 61 1 22.91 22.91 PHYSICS 3A & 3B P13757 Exploring Physics Stage 3 [Przywolnik] 62 29.71 29.71 1 P13699 Heinemann Physics Content & Contexts Units 3A & 3B [CAHILL ET AL] 1 77.95 77.95 63 P13765 Study Guide WACE Physics 3A-3B [Lucarelli, Michael] 64 1 35.66 35.66 PHYSICAL EDUCATION STUDIES 3A & 3B Physical Education uniform is compulsory and is available from the PE office P05569 Physical Education Studies Resource for Units 3A-3B Revised [HEBERLE & 65 1 53.51 53.51 MIDDLETON] **CERTIFICATE II SPORT** Physical Education uniform is compulsory and is available from the PE office **CERTIFICATE II VISUAL ART** P55439 Display Book A3 20 Pocket Black Insert Cover (Non-Ref) 6.80 66 2 13.60 P56667 USB Pocket Flash Drive 8GB - NO RETURNS 67 1 11.01 11.01 SUGGESTED STATIONERY FOR USE IN CLASS This is in addition to specific subject requirements P50466 68 2.85 2.85 Correction Tape Marbig 1 P55546 Exercise Book A4 8mm 64 Page 69 1 0.94 0.94 P55442 70 Display Book A4 20 Pocket Black Refillable 1 1.66 1.66 P55710 Dividers PVC A4 5 Tab Multi/Coloured 71 1 1.70 1.70 P55654 Glue School Stick UHU Blue 40 gm 72 1 2.13 2.13 P50186 Highlight Marker - Yellow Textliner 73 1 1.32 1.32 P55097 Lever Arch File A4 Board 74 3.70 3.70 1 P56388 Loose Leaf Refills Reinforced A4 7mm Pkt 100 75 1 2.42 2.42 P56094 Pen Ballpoint Cap Type Black Medium 76 1 0.30 0.30 P56096 Pen Ballpoint Cap Type Red Medium 77 1 0.30 0.30 P56095 Pen Ballpoint Cap Type Blue Medium 78 1 0.30 0.30 P56215 Pencil Case Tartan Jumbo 330mm x 170mm 79 1 2.25 2.25 P50092 Ruler 300mm Plastic Clear 80 1 0.72 0.72 P50320 81 Stapler & Staples Colby Little Gem Emerald 1 3.02 3.02 P55063 Batteries AAA Alkaline Pkt 4 82 6.16 6.16 OPTIONAL VALUE ADDED STUDENT EXTRAS P55180 Book Covers A4 Pkt 5 83 5.40 5.40 1 P50905 Sunscreen SPF 30+ UV Roll On 50ml/75ml Anti Cancer 84 1 8.08 8.08

## Please tick the items required in the box provided $\downarrow$

Office Use	Description	No. Reqd Reqd Price \$
	Number of Boxes ticked:	
	Postage (Home delivery only)	\$0.00
	ESTIMATED AMOUNT DUE (PRICES CORRECT AT 05/11/13)	\$

☐ Yes, please email me with information on current Year 11 and 12 Study Guides.

Total

Amount \$

Unit